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6. The average price of gasoline charged by a gas station increases over a six-year period. The

linear regression equation for the data sy
yrepresents the price of gas in cents per |

. Complete the table to determine the residuals for the price of gasoline.

.

71x + 6171, where x represents the year and

Price of Gas. Predicted Price
Year Residual Value
(cents per lter) (cents per liter)
o 55
1 74
2 75
3 72
4 80
5 85
b. Construct a residual plot of data.
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€. Do you think a linear model is a good fit for the data? Explain your reasoning.
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Every time it rains, street vendors in a city sell fewer items. Therefore, rain appears to cause street
vendors to sell fewer items. List two or more common responses that could also cause this result.
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A commercial shows data that indicates when you take a certain type of cold medicine, your cold
goes away within a week. Therefore, the medicine causes the cold to go away. List two or more
common responses that could also cause this resul.
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A study reveals that bicyclists who wear helmets are less likely to experience a severe head injury
from a bicycle accident. List two or more confounding variables that could have had an effect on
this claim.
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Missy is analyzing the scatter plot shown. She determines that the data in this scatter plot must
have  negative correlation because a negative correlation means the data points are not close
to forming a straight line. Is Missy correct? Explain your reasoning.
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Determine whether the points in the scatter plot have a positive correlation, a negative
correlation, or o correlation. Then determine which r-value is most accurate. Explain

your reasoning.
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A study reveals that drivers who wear seatbelts are less likely to experience a severe head
injury from an accident. List two or more confounding variables that could have had an effect
on this claim,
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1. The table shows the miles driven by a truck driver. The distance is the total number of
miles driven,

Times (hours) 0 1 2 3 4 B 6 7

Distance (miles) 0 43 87 10 | 120 | 150 | 203 | 216

a. Determine a linear regression equation for the data. Round the slope and y-intercept to the
nearest whole number.

b. Identify the correlation coefficient, or r-value, of the line. What does this value tell you?

. Predict the distance traveled after 9 hours. Show your work and explain your reasoning.
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2. The table shows the population decline of a small town over a seven-year period.

Year 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011
Population
(b o) 94 83 89 80 69 63 66

a. Determine a linear regression equation for the data.

b. Interpret the equation in terms of the problem situation.
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¢. Predict the population of the town in 2014 if the decrease in its population continues at the
'same rate.

. Predict the population of the town in 2020 if the decrease in its population continues at the
'same rate.

. I the linear regression equation a good indicator of what the population will be in future
years? Explain your reasoning
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3. Acommon saying is “an apple a day keeps the doctor away,” meaning the more fruits and
vegetables you eat, the less often you get sick.

a. Is eating fruits and vegetables a necessary condition for not getting sick? Why or why not?

b. Is eating fruits and vegetables a sufficient condition for not getting sick? Why or why not?

€. Is there a correlation between eating fruits and vegetables and not getting sick? Explain
your reasoning.

d. Is it true that eating fruits and vegetables causes a person to not get sick? Explain
your reasoning.
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4. Madhur is analyzing the scatter plot shown below. She determines that the data in this scatter
plot have no correlation because as the x-values increase, the corresponding y-values do not
increase. Is Madhur correct? Explain your reasoning,
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5. Determine whether the points in the scatter plot have a positive correlation, a negative
correlation, or no correlation. Then determine which r-value is most accurate. Explain
your reasoning,
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